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PART -A (10 x 2 = 20 Marks)

Maximum : 100 Marks

1. Fill ip.the blanks with suitable prepositions : (4 x % = 2)

Scientists began to try making synthetic diamonds a. the end of the

eighteenth century. It was h. this time that a key scientific fact was

discovered: diamonds are a firnn c. carbon, which is a very common

element. Graphite, the black mineral that is used d. the 'lead' in your

pencil, is made of it, too.

2. In the following questions., look at the underlined word and pick out the most
appropriate synonym or definition from the list. Pay attention to context as you choose

your answer. (4 x = 2)

(a) The project was shelved because it was not feasible.

(i) reasonable (ii) viable

(iii) liable (iv) likable
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(b) The stringent rules in the library discouraged many students from entering

it.

severe (ii) strange

(iii) strained (iv) serious

(c) The new recruits understood their subordinate status.

(i) conquered (ii) underwater

(iii) lower (iv) less

(d) Tom saw the inanimate object through his binoculars.

(i) lively

(iii) large

(ii) lifeless

(iv) non -mammalian.

3. Write purpose statements for TWO of the following :

(a) an aerial

(b) an experiment

(c) a litmus test.

(2 x 1 = 2)

..

4. Use any TWO of the following words in sentences of your ,own first as, ,a noun, and

then as a verb.  -:.; ,(2x 1 = 2)

(a) Produce

(b) Project

(c) Convict.

5. Select any two from the words given in the box and use them as nouns and a verbs in

separate sentences :

Example :

(a) The project was implemented last year.

(b) The picture was projected on the screen.

(a) book (b) suspect (c) export (d) rebel

2

(4 x Y2= 2)
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6. Form nouns from the following words using suitable suffixes :

(a) terminate

(b) argue

(c) accept

(d) persuade

(4 x = 2)

7. Give the numerical expressions for the following : 4 x = 2

(e.g.) a journey of twenty miles Ans : a 20 -mile journey.

(a) a project grant of five lakhs.

(b) a tank with a capacity of two thousand litres.

(c) a workshop lasting for fifteen days.

(d) an inspection team consisting of five members.

8. Fill in the blanks with a, an or the : (4 x Y2= 2)

Devendra became MLA after he won Assembly election as

Iiidetienderit candidate. newcomer 'to politics, Devendra surprised one and

4: alk.with his victory.

9. Rewrite the following into indirect speech : (1 x 2 = 2)

"Green buildings are becoming popular," said the civil engineer to his customer.

Fill in the blanks with suitable forms of the words. x Vs-= 2)

Noun Adjective Person concerned

(a) archeology

(b) ornithologist

(c) conservational

(d) industrial
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PART -B (5 x 16 = 80 marks)

11. Read the following passage and answer the questions that follow it.

Intelligence tests have been constructed of three kinds. Verbal paper -and -pencil tests,

nonverbal paper -and -pencil tests, where the tasks are presented by means of pictures
and diagrams, and performance tests which require the manipulation of objects. Some,

such as the Billet test and the performance tests, are given to subjects separately; most

verbal and non-verbal tests can be done by a group of subjects writing at the same
time.

The subjects are told to do their tasks within a certain time, their results are marked,
and the result of each is compared with a scale indicating what may he expected of
children of the same age, i.e. what marks are expected of the relatively few bright
ones, what marks are expected of the few dull ones, and what marks are expected of
the bulk of the population with whom the comparison is being made. This
`calibration' of the test has been made beforehand and we are not concerned with the
methods employed. One thing, however, we have to notice, and that is that the
assessment of the intelligence of any subject is essentially a comparative affair.

The results of assessment are expressed in various ways, the most familiar being in
terms of what is called the Intelligence Quotient. For our purposes we need not
consider how this has been devised, it is enough to say that an 1.Q. round about 100 is
`average', while more than 105 or less than 95 are above or below the average
respectively:

Now since the assessment of intelligencesis a comparative matter we must be sure that

the scale with which we are comparing our subjects provides a 'valid' or `fair'
comparison. It is here that some of the difficulties, which interest us, begin. Any test
performed involves at least three factors: the intention to do one's best, the knowledge

required for understanding what you have to do, and the intellectual ability to do it.
The first two must be held equal for all who are being compared, if any comparison in

terms of intelligence is to be made. In school populations in our culture these
assumptions can be made with fair plausibility, and the value of intelligence testing
has been proved upto the hilt. Its value lies, of course, in its providing a satisfactory
basis for prediction. No one is in the least interested in the marks little Basil gets on
his test, what we are interested in is whether we can infer from his mark on the test
that Basil will do better or worse than other children of his age at other tasks which
we think require 'general intelligence'. On the whole such inference can be made with

a certain degree of confidence, but only if Basil can be assumed to have had the same

attitude towards the test as the others with whom he is being compared, and poly if he

was not penalized by lack of relevant information which they possessed.
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It is precisely hire that the trouble begins when we use our tests for people from
different cultures. lf, as happens among the Dakota Indians, it is indelicate to ask a
question if you think there is someone present who does not know the answer already,
this means that a Dakota child's test result is not comparable with the results of
children brought up in a less sensitive environment. Porteous found difficulty among
the Australian aborigines. They were brought up to believe that all problems had to be
discussed in the group, and they thought it very eccentric to be expected to solve one
by oneself.

Supposing, however, a satisfactory attitude towards the test can be assumed, what
about equality in relevant knowledge ? In a society where children play with bricks,

performance tests involving the manipulation of little cubes present an easier problem

than they would in a society where such toys were unknown. Bartlett reports that a
group of East African natives were unable to arrange coloured pegs in an alternating

series, but they planted trees according to the same plan in everyday life.

Then there is the story of the little boy in Kentucky who was asked a test question: `If

you went to a store and bought six cents worth of candy and gave the clerk ten cents

what change would you receive ?' The boy replied: 'I never had ten cents and if I had
I wouldn't spend it on candy and anyway candy is what mother makes.' The tester

retbrinulated the question : If you had taken ten cows to pasture for your father and

six of them strayed away, how many would you have left to drive home ?' The boy

replied: 'We don't have ten cows, but if we did and 1 lost six I wouldn't dare go

home.' Undeterred the tester pressed hiS queStibn: 'If there were tell children in your

school and six. of them were sick with the measles how many would there be in
school ?' The answer came: `None, because the rest would be afraid of catching it
too:

Thus all intercultural comparisons of, intelligence are vitiated by the lack of true
comparability, and any, generalization about `racial' , differences in intellectual

competence which do not,take account of this are worthless. So are many compariSons

which have been made between children of different social: classes.

(a) Choose the option that best represents the meaning of the following words as

they are used in the text. (5 X 1 = 5)

(i) manipulation

(1) manifesting
(2) handling

(3) treatment

(4) influence
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(ii) calibration

( I ) overall percentage of marks

(2) evaluating marks

(3) conducting tests

(4) marking units of measurement

(iii) vitiated

( I ) verified

(2) created

(3) invalidated

(4) arranged

(iv) undeterred

( I ) persistent

(2) unsuccessful

(3) adamant

(4) indecisive

(v) penalize

(1) punish

(2) reward

(3) ensemble

(4) annotate

(b) State whether the tbllowing statements' are true or false. (5 x 1 = 5)

(i) The trouble in I,Q testing begins when we use tests to compare persons

from different cultures .

(ii) Intelligence tests have proved that there are racial differences in levels of

intelligence.

(iii) The assessment of a person's intelligence is absolute.

(iv) Australian aborigines believe that all problems can be solved only in

groups.

(v) The subjects of an IQ tests have to be of the same age, culture and society.
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(c) Choose the response which best reflects the meaning of the text : (6 x 1 = 6)

(i) Which of the following is an intelligence test.?

(1) Binet test
(2) Diagnostic test
(3) Gramtriar test -

(4) Porteous test

(ii) Why are Intelligence tests conducted '?

(1) To consider how an Intelligence test is devised.

(2) To prove the value of intelligence.

(3) To show that intelligence can be measured.

(4) To provide a basis for prediction of the subject's ability to perform
certain tasks.

(iii) Which of the following is not a factor that should be considered in an
Intelligence test ?

(1) The intention to do well in the test.

(2) The intellectual ability to do it.

(3) The performance of the test in a group.

(4) The knowledge required for understanding what you have to do in
the test.

(iv) Bartlett's report on East African natives proves that the intelligence test is
valid only if

(1) the subjects have the right attitude towards the test.

(2) the subjects have prior knowledge of the subject on which they are
tested.

(3) the subjects are familiar with toys in their society.

(4) the subjects should be familiar with tree planting,

(v) The test on the boy from Kentucky was invalid because

(1) the boy did, not have the relevant knowledge.

(2) the boy had poor'attitude,

(3) the tester was not very intelligent.

(4) the test did not take into account cultural differences among the
subjects.

(vi) Which of the following can an intelligence test safely do ?

(1) Make intercultural comparisons of intelligence.

(2) Make interracial comparisons of intelligence.

(3) Make comparisons between subjects of the same , age and

background.

(4) Make comparisons between subjects from different social classes.
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12. (a) Write two paragraphs (200 words) on the thllowing topic : (16)

"Compare and contrast the advantages and disadvantages of Internet".

OR

(b) Write two paragraphs of the following. Each paragraph should not exceed 100

words : (16)

"Ways to preserve our environment".

13. (a) Imagine that you are a Safety Engineer of Nuclear Power plant. There was an

explosion due to the failure of control rods. Most of lives are severely affected

due to the radiation. The Chairman of the Atomic Energy Commission has

asked you to submit a detailed report on the disaster together with your

recommendation to avert such a disaster in future. Prepare a report accordingly.

OR

(b) Write a set of eight recommendations to tide over the power cut during summer.

14. (a) Write a letter of application for the post of a Junior Engineer to the Divisional

Engineer, Mambalam Division, Chennai Telephones, 786, Anna Salai,

Chennai - 35. Attach a suitable bio-data with the application.

OR

(b) Assume that you are organising a guest lecture for the first year. B.E. students.

You come to know that the speaker is going to use poweipoint presentation in

the seminar hall of your college. Prepare a check list of eight important items

that you have to arrange:in the seminar hall before the commencement of the

speaker's presentation.

15. (a) Write an essay inihreeto five short paragraphs on the problem of providing safe

drinking water to the people in your district. Also give a set of solutions to the

problems you diScuss in your essay.

OR

(b) Write a proposal for submission to the principal of your college for giving

employability training to your classmates. Give details regarding the need, the

number of students, venue, time and dates, resource persons for the training,

amount of money required, sponsorship, if any, etc.

(16)

(16)

(16)

(16)
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